
   NOITPIRCSEDID. QTY.

MOUNTING INSTRUCTIONS 

 REAR MUDGUARD ADAPTABLE TO 

 KAWASAKI NINJA 300 13’-
KAWASAKI Z300 15’

Ref.: 6459 N 
black colour

Ref.: 6459 C 
carbon look

3

1

2

3

4

5

6

Mud guard

Iron fi ttings

M6 nut

M6x15 black allen screw DIN1001

Well nut

Metal arrowhead

1

1

2

5

5

5

21

5

2

3

3

4

6

1

4
6

5

Original screw

4

5
6

4
6

5

46
5



   ID. DESCRIPTION QTY.

 MOUNTING INSTRUCTIONS 

REAR MUDGUARD ADAPTABLE TO 

       KAWASAKI NINJA 300 / Z300 -17'
Ref.: 6843 J 

black colour

Ref.: 6843 C 
carbon look

3

1

2

3

4

5

6

Mud guard

Iron fi ttings

M6 nut

M6x15 black allen screw DIN1001

Well nut

Metal arrowhead

1

1

2

5

5

5

21

5

2

3

3

4

6

1

4
6

5

Original screw

4

5
6

4
6

5

46
5

Rely on premium motorcycle frames & body by Puig if you’re looking for quality and efficiency.

https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/frame-body.html

